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SRS W / Objective Type Questions

7y GEar 18 80 7F gl wyT &1 g @ el 40 WA FT 3y
mma&'mwﬁmﬁwwé‘ﬁnﬁ#w#?!mm?
wel faweT ¥ OMR ¥z ¥ fafgam &+¢ 1 40

Question Nos. 1 to 80 are of objective type. Answer any 40 questions,
question has four options out of which only one is correct. You hy

" mark your selected option on the OMR sheet. 40x]

1. & W Wad §9 8 ATH g aﬁmwsﬁmmaﬁ@rﬁﬁﬁm%

a) FeRfRmd @) gE-vRm R

(C) Sw-ghmfmd (D) = @ & T

A horizontal magnet hanging freely in air always comes to resti

(A)  Any direction .(B) East-West direction

(C) North-South direction (D) Noné of these .
2. ol uw feE aREd AR 3 Sy Fem @ S 8, @ 9% e

(a) fadfm 2rft (B) URMETE a1 Rafm g

() fa&fa 7d grft (D) 'ﬂﬁﬁaﬁé%"f

If a compass is placed near a wire carrying electric current, th
the compass needle

(A)  Will be deflected

(B)  The current carrying wire will be deflected
(€}  Will not be deflected
i @! , None of these | ‘ '
M - — Page 4 of 32
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2 3 wga A FiRHN G A Rl it 8
(A) faega gudh@ \w B) frem swwea F Fram
(C) (A) 3 (B) BH (D) %A @ w1 Tl

Farnday rhndc man}; revolutionary discoveries, including
(A) Electromagnetic induction |
(B) Law of electrolysis
(C) Both (A) and (B)
(D) None of these
4. faega O whafia s@
(A) TarfE S B figa st o
B}— Taga st ) gifis i &
(C) = Fut + faga oo §
(D) T ot ) ol Ft §
An electric motor converts
(A) Chemical energy into electrical energy
(B) Electrical ertergy into mechanical energy
(C) Mechanical energy into electrical energy

(D)  Electrical energy into chemical energy
5. wiftm & am v P f a1 Ty F R @30 weh 2

T g &

P&ge 5'°f32
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6.

[112‘

In Fleming's lefl-hand rule, the jndey finger of the left hany

indicales
(A)  Dircction of magnetic ficld
(B) Direction of clectric force applied on the conductor

(C) Direction of electric current flowing in the conductor

(D) Nonc ofl-these

ferdl) e AR A foege uro yaifta w0 WAR % FW A9 e g
Juehly &3 41 8 € 2

(A) fata wenr & (BY WA YE %
) foadl ot ywr F 78 (D) T A w§ Tl | .

When clectric current flows through a conducting wire, what typ

of magnetic ficld is generated above and below the wire ?

(A) Opposilc typc (B) Similar type

(C) Not of any kind (D) None of these
vt faga ot fha e w1 Sl WA @ ?

Y@ECicauin (B) ARl

(€) (A) 3R (B) B (D) FH A FE A
What typce of energy sou:'cc is hydroelectric energy ?
(A}  Rencwable (B) Non-renewable
(C)  Both (A) and (B) (D) Nonc of these

Page 6 of 3.
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8. -t Y ATaE Fwm F fog Iaerf & o

(A) TR (B) @ zmamraEme
‘(o) WA (D) % A 3
Which gas is responsible for global warming ?
(A) Nitrogen (B) Carbon dioxide
(C) Oxygen (D) None of these
9. fra T wifiw g 2
(A) TETEE (B) TFAA
(C) B 3t @ (D) A A

Bile juice {s secreted by

(A)  Oral cavity (B) Liver

(C) Small intestine (D) Stomach
10. &z ¥ @ w@igR #1 F w g @ ?

(A) JEINEYT HaTG HA!

(B) FHEUNY & HAG! QAHC! UCHI

(C) HAYEY H1 TAd FAHcI TQMI

(D) & = T |

What is the function of the villi located in small intestine ?
(A) Blocking absorption

(B) | Reducing the surface area of absorption

(C) .lncrcaaing the surface area of absorption

{b) None of these

GhIA)GIT

Page 7 of 35

https://www.bsebstudy.com


https://www.bsebstudy.com/

E y [112
|

11. g@gmwﬁmmﬂ%
(A) T B) weh

() e (D) TG

The posterior part of the oral cavity is

(A)  Esophagus (B) Pharynx
(C) Duodenum (D) Pancrcas
12. &g SraEm @ i § sriedea w1 e 3R wE SRR &
T FEAd @
(8" vaTereET - B FwEE
(€) T (D) ¥ 3w A

The transfer of 02from outside environment to cells and removal ¢

CoO, is referred to as
(A) Exhalation (B) Respiration

(C) Inhalation (D) None of these

13. —— e R iR R CR

(A) oiERE (B) CO,
JQ)/ . (D) R St
The basic source of oxygen in photosynthesis is
(A)  Chlorophyll (B) CO,
(C) Water .(D) Solar energy
|.ss/a/613 Page B ol3
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14, - i fEa i} 5 |Rem @ ‘'l al’ & ®y 0 ST T D 9

ay ATP (B) ADp

(c) DTP (D) . %t A 8

Which of the following is known as the ‘energy currency’ of the
ccll ?

(A) ATP (B) ADP

(C) DTP : (D) None of these

15. 9EY # g IRer R
(A) IeE % 95 % fer (B) ifefa &1 T& F 1T
() 3fi 3t F1 9e & R Dy e w1 7w F e
Xylem in plant is responsible for
(A)  Carrying of food (B) Carrying of oxygen
(C) Carrying of amino acid (D) Carrying of water
16, e 3 e w A Pffen § @ o am § 2
(A) ¥4d Th HIREAIY (WBC) (B) T ST (RBC)
(€) ThuEFET D) A wh

Apart from plasma, which of the following is found in blood ?

(A White Blood Cells (WBC)(B) ~ Red Blood Cells (RBC)

(C) Blood platelets (D)  All of these
17. 3 @ wielh A frga @ EEE O R, RS I S A
(A IEPAd@@? (B) foow @
Lo Femdamg (D) ¥ & % A
SS/A/613 Page 9 ol 32
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18.

19.

20.

An ﬂquu-hl'uu - e =

water

(A) gets ionized (B) is soluble

(C) is insoluble " (D) none of thesc
frefafaa ﬁ @ & 1A gIF (olfactory indicator) TR ?
(A) & AE (B) &fen
C) THHS (D) wHawh

Which of the following is not an olfactory indicator ?

(A) Clove oil (8) Vanilla

(C) Sweet potato (D) All of these

ﬁﬂ%éﬁﬁm-mmwmi?
(A) Iﬁ@rﬁmaqra (B) Udifes I
) AdEE I (D) ¥ & T

Which acid is found in ant sting ?

(A) Citric acid | (B) Acetic acid

(C) Methanoic acid (D) None of these

ﬁqiﬁmﬁﬁwﬁaaﬁga’mmﬂﬁ?
(A) W FEHE (B) ST GIEHRE I
) FAEaH (D) Tigw W

Which of the following is kept immersed in water ?

(A) White phosphorus (B) Red phosphorus

(C) lodine (D) Sulphur

https://www.bsebstudy.com
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E [112

1 s § gl w8 39w v weem §

(A), g B)  svEl (i)

c) @ (D) ¥ A % 3

The substances, present as impurities in on ore, are called
(A) Slag (B) Gangue

(G) Mineral (D) None of these

22. Fr=ifea A 5w uig =) 9 @ omarht @ w1 G @ 2

(A} Na (B) Cu
(C) Ni (D) Al
Which of the following metals can be easily cut with a knife ?
(A) Na (B) Cu
(€) Ni (D) Al |
23. AN F BH-d urg frere murg daw ) I R o
(A) Fe (B) Cu
(C) 2Zn “(D) Ag

Which metal is mixed with gold to make an alloy ?

(A} Fe (B) Cu
(C) Zn (D) Ag
24, st
(A)  Hurg (B) wig
) Faug (D) Jurg
: rf—f_l_l._f_*_lé_

Page ) 1 of =
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. . 1 112
- Siliconisa/an -

(A) Non-metal

(B)  Metal

(C) Alloy (D) Metalloid
25. QT IREO T 9Rn e 2

(A) W T (B) woeh

(C) vt & (D) Wy &

Double circulation is not found in

(A)  Frog (B) Fish

© Bird - (D) Human
26. A @ ¥ gl A w2 0

A) T=m3 (B) eI A

(C) wHaq D) wAIRE

From where does urea enter the blood ?

(A)  Kidney (B)  Lungs

(C) Liver (D) None of thesc
27. @ 1 ROV gl dan § 2

(A) PCTH (B) DCT#

(C) A (D) WA wf

Where does glucose reabsorption occur ?

(A) InPCT " (B) InDCT -*i

(C) In Henle's loop (D) Al of these |

SS/A/613
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(112
ﬁmmﬁ%mﬁmqmﬁﬁw&wﬁmﬁ%m

aamb/t

(A) TR T (B) vitE=w o5
Wﬁa _ (D) B an

The mechanism for removing harmful substances formed as a
result of various activities from the body is called

(A)  Digestive system (B) Circulatory system
(C) | Excretory system (D) Nervous system
29. TR F N A TR wHa 2 0
(&) < (B) <
(C) wulE | (D) @

What can happen due to spinal cord injury ?

(A)  Goitre (B) Dwarfism
(C) Diabetes (D)  Paralysis
30. w%m&ﬁﬁ@uﬁl%‘
A T 1B}~ s
(G (D)  sr=mewyg
The largest gland in the human body is
(A} Adrenal (B) Liver
(©)  Ovary (D) Pancreqg
A SSTAIAIS |
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31. Y g FET

(A)  HEA (B) wET

(C) UaTEH (D) % A %3 3

Plant hormone is called

(A) Phcrnfmone (B) Phytohormone

(C) Enzyme (D) None of these
32. vl g1 iR yads & serm 2

(A) @™ - (B) 3

(C) To= (D) FTNEEEH

An example of vegetative propagation through leaves is

(A)  Onion (B) Potato

(C) Rose (D)  Bryophylum
33. W A gl £ w@ wmm PR, W)

(A)  f+P=0.5 (B) fxpP=1

C) P+f=1 D) P+f=2

If the focal length of the lens 1s fand power is p the
n
(A} f+P=0-.5

B) fxpP=1
C) P+f=1 D) P+f=op
3. %ﬁmaﬁq-mmaﬁd%%&mtﬁmmm%?
A) gmw B) g
C) f&ey
{3;,51\3] —=

Page 14 of
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D ' [112]

Which part of camera acts like the retina of the cyc ?

(A)  Apcrture (B) Lens
(C) Film (D)  Shutter

35. T T A A % fo R wen gi-firg . @9 ¢
(AL—0 @ 34 (B) 25cm T 250 cm
(C) 25cm @ 3Fd (D) 0T 25cm

For a healthy human eye, the near point and far point are

respectively
(A) 0 and infinity (B) 25cmand 250 cm
(C) 25 cm and infinity (D) 0 and 25cm
%. TEHI W @S FaRw arEi N e Wi B &
(A) (B) rem

(C) ~ren (D) I

To an astronaut standing on the moon, the sky appears to be

(A) Red (B) Blue
(C) Black | (D) White
37. 3 6 THAT-H0a1 9 8 W1 |/ INA B @
A) q-ged B) -3 g
() Fae-gf An (D)  auiiea
The decreased accommodative ability of the eye cayses
(A) Farsightedness (B) Presbyopia
(C) Nearsightedness (D)  Colourblindness
Bﬂh/ﬁls _ | pagm
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38, for) e h sfiuma &1 g

(A) Qm B) Q/m
© o (D) ¥ A w7
The unit of resistivity in a conductor is
A) Qm (B) ©/m
- (© Q! (D) Nonc of these
39. 1@ ¥ frerlt e @ R 2
(AL 023 (B) 0-19
C) o021 (D) 025

How many calories arc there in 1 joule ?

(A}  0-23 (B) 0-19
() 021 (D) 0-25
40. frga =va § Sremiz Prafafaa i fea urg @1 w1 @ @ 2
(A) @@ (B) Ty
(C)— TTA (D)  afan
The filament in an clectric bulb is made of which of the followi
mctals ?
(A) Iron | (B) Aluminium
(C) Tungsten (D) Copper
41, fryirraz § 80 9 giEda B HEd &
(a) fafaum (B) 3
() wEf (D) ¥ § HIg T
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v mEE = o= wr

(A)  Diversity (B) QGermination

(C) Puberty (D)  Nonc of thesc
42. frafafea 4 #1 ofEn faem ol 3 vge o sy e 2 2
(A) sEHE (B) oMW
(C) HRAGET (D i A h
Which of the following is an effective measure used in family
planning ?
(A) Diaphragm .[B] Condom

(C)  Copper Tand loop (D) All of these
13, o o R o R 9

(A)  wdfd § Sl & Uil 1 o
(B) wafa & sl & ol F T M
(C) ﬁaﬁﬁ@sﬁ%gﬁmm,aﬁmﬁqﬁ%

(D) % & oft
What is the meaning of atavism ?
(A)

Inheritance of parental characteristics ijn progeny

(B) No _inhcritance of parental characteristicg in progeny

(C)  Inheritance of ancestral characteristics in

not in parents

(D) Al of these -

Progeny, which are

https://www.bsebstudy.com
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44, fdf) e A N v wgemd R

(n) TS (B) frerg
(€) gl (D) R
The genetic structure of an organism is called
(A) Phenotype (B) Genotype
(C) Heredity (D) Diversity
45. vples T g Gl w1 R weem 2
(A) HEEER (B) IR
(€) g& fawm (D) sifdTEie

The evolution of organisms by natural sclection is éalled
(A) Mendelism (B) Lamarckism
(C} Micro-development (D) Darwinism
a6, 3 et v w3 e WA R
(A) CFC (B) ADP
(C) ATP (D) DDT

The chemical which shows biomagnification is

(A) CFC (B) ADP
(C) ATP (D) DDT
.
SS/A/613 Page 18 ors?
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El [112]
47. STUfis I9NITH FECA &

(A)  HYIEH (B) waferl

(C) wiaTErd (D} WTEET)

Primary consumcrs are called

(A) Decomposer (B) Omnivorous

(C) Carnivorous (D) Vegetarian
48. CFC %1 &9& 3G g 2

(A) W ST A (B) Ghrited i

(C) TR FATN (D) 8 & a¥fi

CFC is widely used in

(A)  Jet engines (B) Refrigerators

(C)  Air conditioners (D)  All of these
49. =& % Tora wamagd dya & 2

Ay 2 (B) 3

(Cy 4 D) S |

How many isomers of butanc are possible ?

A) 2 (B) 3

(C) 4 (D) S
50. Prd= & 3oy &1 R da R

(A) TR (B) SeE@mHR

(C) wHIgEHEThIY (D) eweEdg

SS/A/613 —m .
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The shape of mcthane molecule is

(A} Lincar (B) Annular

(C) Tetrahedral (D) Octahedral
51. st AR § Fwrlr N sioEn ah 2

A 1 (B} 2

€ 3 (D) 4

The valency of carbon in organic compounds is

(A) 1 (B) 2
c) 3 (D) 4
52. Fm i 99 Hgw TR ] 2
A ¥ (B) YehH
(C) e (D) A = 7
Which of the following is saturated hydrocarbon ?
_(A) Alkane (B) Akene
(C) Alkyne (D)  None of these

53. qfmefa %1 JUPAC Tm £

(A) (B) wureH
' (C) wi | (D) wH &} 7
IUPAC name of cthylene is
(A) Ethane (B) Ethyne
(C) Ethene ' (D) None of these ‘
SS/A/613 ' 4‘;
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54. HeelE H arad wnod ) @ wl wn o) o
(A)  ATRNE 9 g e ol 20
(B) CI 3Rm w7
(C) EEgA % 3@ wm dl 2
(D) 5 A = 7@
Which was a defcct of Mendeleev's periodic table ?
(A) Not giving proper place to oxygen
(B) Not giving proper place to Cl
(C) Not giving proper place to hydrogen
(D) None of these
55. mwﬁwﬁqﬁrﬁﬁﬂﬂﬁm&mgﬁwﬁaﬁmﬂm?
(a) sel® By IS
(C) T AR (D) STUEFR
Who among the following propounded the laws of octave ?
(B) Newlands
(A) Mendeleev
(D) Doberciner
(C) Lother Meyer o
| ity &g m ?
o Preffen # @ S A 7=
T ‘ o (B) Na,O
A S
@ 20 (D) NO,
(C) AlU3 llowing compounds would be the most basic ?
hich of the follo
whi (B) Na,O
SO '
B = (D) NO,
(C] A] 2 O 3 .
- Page 21 of 32
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57. el ¥ W8 P T §
(W
(Sl i}q alt (B) Q=
A group of rays is called
(A) Light beam
(C) Both (A) and (B)
sg. wern & fredt T W &
(a) el oft R o
©y e d
The light rays travel in
(A) any direction _
(C) a straight line
59. J=ae 4w fFa yHR +1 gdu @ ?

(A) HATETH ) (B)-

(C) P ot gard A1

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(D)

frtm q=
T A w1 TE

Ray beam

Nonec of these

forcd Tan ®
i 3 i 7

oblique line

none of these

v
4 A *E Td

Which type of mirror is a concave mirror ?

(A) Divergent

(B) Convergent

(C) Both convergent and divergent

(D) None of these

60. mﬁmﬁﬁqﬁ%ﬁﬁﬁﬁam%mwwma

(A) I« gHw {B)- =aa gdu
(C) uwaw o D) T A+ 5
SS/A/613

https://www.bsebstudy.com


https://www.bsebstudy.com/

[112]

Which of the following types of mirror is used in the headlight of a

car ?
(A} Convex mirror (B)  Concave mirror
(C) Plane mirror (D)  Nonc of these
61. I T R Wi g Qe 2
A) VTS 4B HOTRTE
(©) () 3K (B) I (D) %} #ré 7
The focal length of a concave mirror s
(A)  Positive (B) Negative
(C) both (A) and (B) (lj) . None of these
62. FaamIvmagAdasRfimemes
(A)  Eae (B) ®Wad -
oy I (D) ¥} w7
Which mirror always forms an image smaller than the object ?
(A) Concave (B) Plane
(C) Convex (D) I:'lone of these
63. arg# werw & =@, Frafa i sRa A R
1By ¥R B
(C) TR (D) ¥ @ i 7
The speed of light in air as compared to vacuum is
| (A)  Less (B More
| (C) Same . (D) None of these
! GiRFEL ) - .Page 23751 32
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64.

AS.

66.

67.

' [ 14

() A (B) aui-fagqu
© W Dy T

which phenomenon exhibited by light is demonstrated in the

twinkling of stars ?

(A) Reflection | (B) Dispersion
(C) Scattéring (D) Refraction
werqmn e fra w4 e T i R 2 2
(A) FACH (B) dfeTTg
(C) IM¥w (D) TSR
In which state is the Kalpakkam Nuclear Power Plant located ?
(A) Karnataka (B) Tamil Nadu
(C}. Uttar Pradesh (D) Gujarat
we M (LPG) %1 W@ 394a §
() TH (B) NI
(€ =g oy fadw
The main component of domestic gas (LPG) is
(A)  Ethane (B) Propane
(C) Butane (D) Methane
Fal & g HFEHiT Ha §

(A) M | au e (B) wRren am Wy
(C) Srawm aw Wfean (D) T A ¥ 7

https://www.bsebstudy.com
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D/

The two non

“ren
Cwable 80urceq of CNergy are 11zl
(A) Gobar gag and biomggg
(B) Coal and Petroleum
(C)

Biomass and Pctroleum

(D) None of these

.!68' T IR TR R St R?
@) EEdew
: (B) 9=
(C) SsaTM —
Which type of reaction js respiration ?
(A)  Combination (B} Reduction
(C) Endothermic (D) Oxidation
69. TANR & THFRY A 7Y i Fremd §
(A)  FEAS (B) wewdrh
(C) <ga §a (D) wH A B T
ICompounds formed by transfer of electrons are called
| (A) Olrganic : (B) Covalent
(C) Electrovalent (D) - None Of these
70, frfaieg sffEmel § 3 #7 s B il w o saEo R
(A) Hy+1p = 2HI
(B) NH,CNO-»HyNCONH;
(C) NaOH + HCl- NaCl + H;0
(D) 2KClOz —»KCl1 +302
S YR Page 25 of 32
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m ’ L

which of the following reactions is an example of decompositig

reaction ?
(A) Hg +1y = 2HI
(B) NH,CNO-»H,NCONH,
() NaOH + HCl> NaCl + H,O
(D) 2KClO3 -KCl +30,
71, Frefafes § R wéfs st orn o R 2

8w (B) el
(C) T (D) fae .
In which of the ﬁ.:l]owing is tartaric acid found ?
(A) Orange (B) Tamarind
(C) Tomato | (D) Vinegar

72.; qP B¢ F TG IW w1 R ? ‘

€) Sfcam stvans (D) ¥Ry TEgEETE
What is the chemical nax-ne of slaked lime ? |

(A) Calcium oxychloride. (B) Calcium chloride °

(C) Calcium oxide (D) Ca]ciurﬁ hydroxide
73. Avfifiem aned Wl ¥ frw wE W W 2 7
(A) wRVII® (B) ®HRIH
’_!C) R 11 %1 (D) HuIg ol W
L 5S/A/613 Page 26 of 3
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Magnesium is 0 member of which group of the perindic table Ll -

(A)  Group vill (3) Qroup|

(C) wroup i (D)  Nonmetallic clement
74.  wad awell A Reed dwad € 2

(Y. P B) 9

(C) 8 D 7

How many pcriods are there in the periodic table ?

(A) 12 (B o

(C)y 8 (D) 7
75. P i s e semm Ao adi e »

(A) g (B) Pz

(C) snad (D) ¥

Which of the following is not an ancient method of water

harvesting ?

(A) Katta (B) Kulh
(C) Dug well (D) Irish
76. Rr@@siufmim:mi st MM ?
(A) fasrell 3TEH B) i fr=d
() =« gfd Dy i & wi

What was the objective of construction of Tehri Dam ?
[ﬂ) Electricity generation (B)  Land irrigation

(C) Watcr supply (D) All of these
|; A 6.3 | Page 27 of 32
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ﬂ [ 115

aqfre R ) 5§ Eunon = R P

77.

(A)  FHIEm - (B) T
(C) &) D) ¥ 3 afi
What is the new concept of waste management ?
(A) Reusc (B) Recycle
(C) Reduce (D) All of these

78. frafufya d Fhwoiy damm | R 2
(A)  wEEm B) =
(C) feram (D) i & &rd 7
Which of the following is a renewable resource ?
(A) Coal (B) Forest
(C) Petroleum (D) None of these

79. Fr=fafea i =% ama =1 qe aew § 2
(A) T SRATRTES (B) EIEZN HEHIES
(C) ST 4By firels
Which of the following is the fnain component of biogas ?
(A) Carbon dioxide (B) Hyd‘rogen sulphide
(C) Water vapour (D) Methane

80. 9fRw arwEt B e R
(A) H WA @1 @ (B) WM ¥R @A A

(C) TRERE@WEA (D) wi 3+
Peptic ulcer can be caused by

(A) Eating less food (B) Eating normal food

T (&) Prol;:nged starvation (D) None of these
| \
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WYS - Y 7 BECTION . g
R yrex / Physics
5 I wE / Bhort Answor Type Quostions

WY oA 1% 8w ey sy 1yt @ Rt 4wt o oRT TV &
. Fory 2 yw Praffla 1 A 4::-3

Question Nos. 1 to 8 are Short Answer Type. Answer any 4 questions.

Each question carries 2 marks.
AT TR R T i ? 3w s w1
| Why do planets not twinkle ? Explain.
‘f 2. POy smedis R s E 7
‘What is called absolute refractive index ?
& QAT FR?
What is farsightedness ? |
4. Tage e R A T T 2
~What do you undcr_stand by electromagnetic induction ?
5~ e it
‘ Why is inert gas filled in electric bulb' ?
| g Prvmioy @ I w w E 2
What do you understand by potential difference ?
7. Sl %1 Ian G 8 FE € ?

What is called the best source of energy ?

|37 TR TR ?
|

What is dynamo ? What is its use ?

q4x2=8

( [85/A/613
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ﬂ 112

Zrd 39dia W / Long Answer Type Questions

v wear 9 A 103 Iy v &1 g @ Brelt o @ I T AR gy
d;f%rqﬁafﬂfﬁﬂfﬁ??l 1x6=5

Question Nos. 9 and 10 are Long Answer Type. Answer any one of them,

Each question carries 6 marks. ]l «6=g
o g o & ? 7 Read yon % B § 2 e Prawo &2 fem w2 2

What arc defects of vision ? What are their types ? How are the
defects resolved ?

10, erite Gia @ e 3 sEfi @ ek =l

Describe the structure and working method of a biogas plant.
€ OT WA / Chemistry
Fl'li IANT W9 / Short Answer Type Questions

AR 11V 18T AW N T AFA 4TI S TSI TS &
foro 2 s Frifa ) 4x2=8

Question Nos. 11 to 18 are Short Answer Type. Answer any 4 questions.
Each question carries 2 marks. 4x2=8

11.  vemat afiew ] TH 2R el fR gEns w5 fad)
Write three information obtained from chemical equation.
/{. i w1 weha e et i &1 w6 2
| Why is an aqucc;us solution of sodium carbonate alkaline ?
). qEE 3 ? & gus w1 W fad)
What is an indicator ? Write the name of an indicator.
14, NI UE WA # ¥ 3 R ?
. What is the difference between an atom and an ion ?
| _15. e ® qfonfua Hi

Define ores. —
SS/A/613 Page 30 of 3.
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16.. NS 3 g @ wm il @ R g o
Why have detergents replaced soap ?

13 e e 0 € 7

What are fossil fucls ?

18. e Wl & @Y w6 A anad A a9 wn Awe §

What do you understand by short and long periods of periodic
table ?

(112

< gwdta W Long Answer Type Questions  ~
W1 WA 19 va 20 I Ity &1 yi @ Pt v wr I &1 9F 97 &

fere s siw Fraifee &1 1x5=5§
Question Nos. 19 and 20 are Long Answer Type. Answer any one of them.
Each question carries S marks. I x5=35

A9~ vifaw s T i % anun w g @ s d st we Sl
Differentiate between metals and non-metals on the basis of
physical and chemical properties. https://www.bsebstudy.com

20. -G T ? Y@ WWOE & U w1 IF@ F
What is energy crisis ? Mention the measures to resolve it.
| wa faar / Biology
g AT WY / Short Answer Type Questions

mmz:#zaawagaaﬁn’:ﬁﬁ#ﬁﬁﬁ4m#%milmm
& ferw 2 oi@ Fraifia #1 4x2=8

Question Nos. 21 to 28 are Short Answer Type. Answer any 4 questions.
Each question carries 2 marks. 4x2=8

—2+7 #ifr & SR PR & ™ R

-1 _W.iie the names of four organelles of a cell.
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[112)

yﬂm g ) ufome 2

'Definc respiration.

/a( ey @ weited § w3 R ?

what is the difference between xyle

/ wﬂﬂm‘é?sﬁﬂmaﬁﬁ%mﬁéi

m and phloem ?

what is excretion ? Write the names of its two main parts.

25. T TR ?

What is phototropism ?
26. WO FNR?
What is pollination ?

27. Dwammwmz,ﬁ?

How is DNA the basis of heredity ?
0g. AT WIEA & FIASRS INTE F1 £?
What are the harmful effects of aerosol chemicals ?

it 39T W97 / Long Answer Type Questions
v GEAT 29 UF 30 T Fwdia &1 gF @ et v BT I &1 ORE WA T

fre 5 3% Fraifta &1 | 1x5=5
Question Nos. 29 and 30 are Long Answer Type Answer any one of them
Ix5=5

Each question carries 5 marks.
SRTIETNY 41§ ? gl ol
What is photosynthesis ? Describe it with a suitable diagram.

30. 3mfire gl & awv F) ISR T gHHTd |

Explain recycling of waste materials with examples.
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